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1.D 2.D 3.B 4B 5.B 6.A
7. x = 0.02 cos (57“ + g) 8. 2:1 9.  0.05m 37°
100 m™ or 3m 11.0
12.
fie: T=2n/0=2/3s,
PRl A=0.1m,
HIAH ¢ =2m/3,
Vimax = Aw = 0.3 m/s ,
amax = Aw? = 0.1 X 972 = 0.97°m/s%
13.

Jers: e R EIL

(1) x = 0.1cos(mt — g)

(2) x = 0.1cos(mt + =)
3

(3) x = 0.1cos(mt + m)

14. () x= 0.08cos(gt+ g)

t=1 x=-0.069m h«p—gx=27x1m4

DOE=Zt  t=067s
3 2
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6. v=— |[—12 R SRR A N
2n | mk, + k,)

7.0.02m 8. m 0 Hr: MR RERM

9. 402hz

10. A=0.1m frFH%ETF 113° feon: AN RERE,

2

11 myg = (m+ M)y’ ska? =220 A=0.025m

k

w= =40 x=0.025cos(40t — m/2)

m+M

12.x=0.02cos(4t + m/3)
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A Ty A
Xy = oS (a)t — —) = Ecos(a)t);

T
X, = Acos (wt + —) = —Acos(wt)

2
X=x1+x,= —%cos(wt) = %cos (a)t +§) :
6. fi: (1) v F=ma - a|g = gm/s2 -~ F =5N.,
(2) apayx = 5m/s? Fax = 10N
L to= g s, x = —0.2m

7. fi#: (1) E=-kA%F, = kx = 0.8N,~ k =2
E=§x2x0.42=0.16]

(2) t = 0lf, X|zg = Acospy = 0.2, cos@, = %,

T

3

IRENTFE: x = 0.4cos(wt + g) Vmax = Aw = 0.8, w =21

Po =

. x = 0.4cos(2mt + =)
3



